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HenpBureul @asfame o merssiu@d sv@urtser srdenDd

A LU flave - B} @mwu foe

C) peoipuow Heve D} prévguwu B,

The spores prodﬁced in Bryophytes are

A)  Haploid : B)  Diploid

) Trii)loid | D) Tetraploid.

Qe Had Quilu smA-CLrdaul sramiu@dDg:

Al QearglCieréden . B)  SyQenfhum

Ci 085860 ' D) eouemev.

Largest gametophyte is four_:d in

A}  Selagella B) Funaria

C) Cycas : D) Pinus.

Quetsr @\er 2 puisel, ﬂ@l}@ﬂﬂfo%@l.]lil_l‘l‘“ﬁ“é) @rsueurg SopselLpdldipen 7
A} aGereflur B) @bpefigur

C) yte&fCaneaflur D} ssvaCarefur.

The female sex organs in Bryophytes are called

A)  Oogonia B) Antherida

C)  Archegonia D)  Ascogonia.

Soliy Georflur (w5 &mg@mn&mut@q@ma&rp@ AL

A) ue Gladsaner LHOID LesHap L Opsmet Qaran G@riCumes 2 Qi
B) Geutsdr Gome

C)  esab @evemen

D) ez 2 pupd @é)a»m
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Funaria is a Bryoi:hyte because it
A)  has multicelled and jacketed sex organs
B} lacks root
C) lacks xylem
D)  has no production of seed.
5. &phlown Lﬂmu(‘émno“emﬁr_@m @)eieurgy aqmpé:mﬁu@@mw ?
A)  wrevselr B) GQupafiser .
C) éﬂmﬁ@mﬁgd\i'.‘ D) Qeubpst agafideme.

The lower Bryophytes are called

A}  mosses - B} ferns

c) 'uéerwg;rt; D)  none of these. "
6. @uqswﬁ g,n’mgﬁ,ﬂa) @b cudswrear Gleeas s sramiiu@denpe .

A) gl Geow whHpo srbuhDE B) &mﬁ.l.qmm mg')@fn SThbUHDHES!

C) saligede WHHID &b 2 ehL g D) gafl Geoe wHpd STOLY 2 LW,
Tht;: type of leaves found in fern are
A}  simple an‘d sessile B) compound and sessile
C) compound and petiolate D) simple and petiolate.
7.  @eubidlen Ceurameh Heul oL demen s @mmuﬂé: aﬂsmar&glsﬁafm
A} egeflur B) eva@arGumgub
C) Qesargearcienm | D}  Syguresom . _ ¢
Roots are dichotomously branchgd in ' ’
A) | Rhynia R B) Lycopodium

C}  Selaginella . D} Adiantum.
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SgoiHe@sh whnd aggaliet Ledlaer @"bg’ g e setii
A.)h anev&CarGumgwid B) ag@&rrmrr

C) E&gle'mt'_l__fn D) Qufen,

Nodes and internodes are distinct in the stem of

A) Lycopodiﬁm _ '~ 'B) Azolla

Ci Equise;um D)  Pteris.

&pé e aor. surr&aﬁ]uﬁ:q.mmé. seued) :

anpp (A) - : wrevsefdn cuentédl S TpHurss sTeRILLED.

argentld (R) : goearenpré Y 3{96.’ Sienadley SHUGRIGS@ET

2_(Heumég &l epeot.
&Gy @gS]L’.lL‘ﬂL'.(Ba‘réﬁ SS9 sfwme aﬁ]c‘zm..mu.lg, Capipoe® : -
A) (A} wppd (R) Gues@ip e, Cuogud (R} erastug (A) @ sflurer eflenéad
B) (A wppd (R} QratorGid sf, Cugib (R) erstug (A) ellipe sflures eflerdmindoe
C) (A sfl gramé (R} peup |
D) (A) wHpb (R} e seup.
Conéider the following statements :
Assertion (A) : The mosses form dense growths.
Reason (ﬁ) :  They produce a large number of spores.
Now sclt;ct your answer according to the coding scheme given below :
A) ﬁoth {A) and (R} are true and (R) is the correct explanatldn of (A)
B) Both (A) and (R} are true, but (R} is not the correct explanation of {A)
Q) | (A) is true, but (R] is false ‘ -

D}  Both (A} and (R) are false.
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10, uigue I g uigue I 2 d Qurgsdl, £Cp Qan@astu Qsien GPiGsmens
Qaran @ sflurer eloLaows Caipsd :

a)
b)
c)
d)
GoldPser :
a
A) 2
B) 4
C) 1
‘ D) 2

uligwe 1
seTalssabser Clureni
By soofl |
YatiGyesd]
QeusirefliGLiy el

b c d
1 3 | 4
3 2 1
2 ‘3 4
1 - 4 3

Lol

uigweév 11
HCemrevurr éir,‘ogS]sunb
g mERTL.LD Sipdlestin
Hleflevrpgeav Spferid
Gl.ifig unb Spibieorid.

Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
C)
d)
Codes :
a
A) 2
B) 4
C} 1
D) .2
xxx [T604]

- List I

Maiden hair férn
Water-fern

Bracken fern

Silver fern
b <
1 3
3, 2
2 3
1 4

18001

ol I

List I1
Azolla species
Adiantum species

Cle.llan,thes species

- Pteridium species.
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11.

12.

13,

14,

2 egCuravbiutvaeis Gebg glbGanmeavblufbsst GaupLbeug
Al et Gy B) amp@.b

C} oeab o dergnéd D) @beou Glearsg.
The ggmnosperms differ from angiosperms in |

A} habit B)  habitat

C) presence of wood " D) absence of ovary.

- @dle Gleuaudisal ST iLIBn

A) e HTe B} evuesen
C) Qelgeny D) @$liib.
Vesséls are present in

A) Cycas _ B) Pinus

C) Cedrus - D) Gnetum.
é)xb@mrrs?u@ur‘nbaetﬂs&r g o6l 2iemendgid

A) Gy & @mm:},w &IT oL

B) upsdlen seupLen Qevemibg sremiin®id

C)  fpbs Hevendles

D) @eubpst agapfdame.

Seeds of gymnosperms are

A) enclosed in ovary' B) . enclosed in fruit wall

C) naked D) none of these,

b SreurHEler LPd srERTLILLTE SLeoTe allers HTRRTULIED 2

A) deverdar Code Bl ewerdy

C) Qererend guyuGymeaub D) @flusrhpd.
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15.

16.

17.

18.

In which plant, fruit is absent but seed is present ?

A) Glyclne max 7 B) Pinus '

C)  Solanum tuberosum D) Hellanthus.,
Soarig o.pllleiegpd Ggréaaulii Ligwhsel

A oesléew B) GanaflutGesv
)  OLAGLrQutGueisy D) G eien.
All members are fossils in

A) Cycadales .B)}  Coniferales

C) Pterldospermale;; ) D) Gnetales,

&Gy Qan@&aﬂuﬁ@m‘rmmﬁ:ﬁ@ @ Qgméeundli Ligwid ?

A Guflev B) sargCerdear

C) oQsmer D) eogefur.
Which of the following is a fossil ? .
A)  Pteris ' B) Selaginella

C) Azolla | D) Rhynia.

- dCp Qar@Esstiu’ @erereundler ergl gibCanrénGluith e 7

A) eomssev B) enuertev

C} Gfev D) @i, |

Which of the following is hot a Gymnoéperm ? -

A) Cycas | _ ~ B) Pinus

C) ﬁerﬁ D)  Gnetum.

gL greurhiseficn @evcaedr G)hs 56 SieN0ay Quippe

A euped_ Dever B) gife Heoe

.C) o eut flene D) @emeu aimﬁm

Iy
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19.

. 20.

Leaves of conifers are adapted to
A) Xeric conditiohs'.

C) Saline conditipns
iflenguoen Ly’ TETLG G

A} @ssen |

C) plLb

A commonly known ‘Christmas tree’ is

A) Cycas

C) Gnetum -

B)

D)

B)

D)

B)

D)

Mesic conditions

all of these.

emUIeDT e

2,7 Cafhur,

Pinus

Araucaria.
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uigud I ulgud I 2 car Qurpsd), £8p Qar@ssiul Gerar @PiEsmens

Qaradn® sflurer afloLows CarbOs® :

LW 1
a)  eueTay ﬁgb@smﬁa
b)  guflev SipPlemd
| ¢)  goafGlurey Spdemp
d) eeseav dpderd '

SO@ser. :

A 3 4 1 2

B 4 3 2 1

c) 3 4 2 1

XXx @ BOC

uCigwé IX
Gelanm

Gueanfld gurfés

LifueTenL et ertorGlesonl
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Match List I with List 11 correctly and select your answer using the codes given

below :
List1 | List I
a)  Pinus species . 1. Sago
5) Ables species 2. Making pencil
¢)  Juniperus species 3. Turpentine oil -
d) Cycas species 4. Canada balsgm.»

Codes : .

Ay 3 4 1 2
B) 4 3 2 1
C) 3 4 2 ' |
Dj 1 2 3 4,
21. Spssanapie aper weflé ureSIGIL L sraolL@eauglideme ?
'A} &®HHAGLGy B) wréCeuad
C) NewedGuwed D) asburedliCL ( c%éuLGg@ )

Which of the following does not have polypetalous ﬂov_irer ?

A)  Cruciferae B} Malvaceae

C) Liliaceae L D) Compositae ( Asteraceae ).
22.  afellumpEey QU ovivverrrreenne, ebbusder € upHng.

A wréGeaed B) GembGemmad

O aeglrad D eiCue.

xxx [1604] 1600
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Hellanthus annus comes under .................... family.
A) = Malvaceae B) ' Leguminosae
C)  Asteraceae D) Liliaceae.

QevgalGaradillés areTILED G& GLE WPODUTDIF

A)  sps i@ B) uenjiiew
C)  seut ‘@V_G D} 2réGe.
In Leguminosae, the placentation is

A) axile B) - parietal
C) marginal | D)  basal

Galped wgsfy s @Eeugrest Pogstedaselas s G wHHD ST

eiTsenend QGTaEmL. LA &GmeTdH TG eTg ?

A)  OesllGammed B} &g Cred
C)  eNeliGued D) oréeGeued.

Capitulum inflorescence with involucre of bracts having disc and ray florets is

characteristic of

A}  Leguminosae B)  Asteraceae
C)  Liliaceae . D}  Malvaceae.
DG &6t ‘SOOI’ , BB v vveeenerrrennen LiegrLy.

A o Cwed B)  eugCredl
C)  CurGued D} ofGsel.

Flowers are Umbels Is the character of

A)  Apiaceae B} Asteraceae

C)  Poaceae D)  Arecaceae.

1604 16001 [ Turn over
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26.

27.

28.

29.

Ol Ol_dveur gdlCu g & @bs GBbLGH & aumHpg:
A) @srAGlad _ B)  wréGeuerdl
C} gliGued D) &sburedh GL.

Centella aslatica belongs to the family

~A) Cucurbitaceae B) Malvaceae

C) Apiaceae | D) Compsitae.
SpaupeusteupPesr ahs Beasdle sroflser sramuu@dng 2

A) oL Gle B) wréGeuetl

C)  HleiGuwed D) QesmbCarGey.

Which of the foilowing has glands in leaves ?

A) Rutaceae B) | Malvaceae

Q) Liliaceae D} Leguminosae.
psaaneuphé shs @emelles el e &ir soonILBD 7

A)  gurdSlur gl m B) yLmGIBTLT mrraﬁ?esn:

C)  yebr Gyrdlgniev ureflg@aulim D) e &TCovabngur subuGev L.
Which of the following contains latex in leaf ?

A)  Euphorbia hirta B) Adhatoda vasica

C) Andrographis paniculata D) Oldenalandia umbellata.
gHur Guav @b SHDUsHe 'af;;o uGADG

A)  GurGued B)  @bat OCGLad

C) saaraaGaal D)  ewslu@redl.

Zea mays comes under the family

A) Poaceae ’ B) Cucurhitaceae

C) Convolvulaceae D) - Cyperaceae.

xxx [1609]
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33.

13

@1 wrgde Qe sazreurl sreOLRSDE

A)  serertyid HyéeflCL g Gl B)
C)  sfigrhdlev evllgr " D)
Resin canals are present in the wood of

A) Anacardium occidentale B)
C)  Achyranthes aspera D}
sri&Cabllub aghe gf aBsgsen @

A)  mesf ,%é.éasé\& - B)
C)  meiflon psesdls D)
Cork cambium is an example of

A) Apical meristem B)

C) Primary meristem D)
Qeetrg Gl&d mg’o@nﬂ god  Clsdsel
2_mpeur dlepet

A) GuaGarges _ B)
C) OLmpGLmgpein - D)

ROSE

- speOTeUT ST

SGTRNT [B)eobrig &I,

Oryza sativa

Cdnna indica.

QoL mD S éapEle
uhe U&eEHEE .

Secondary meristem .
Lateral meristem.

@eupdest  Qewdur@est  pevd

surev@eom @&bifluid

@uamLrb Heow o sesde.

Lenticels and complementary cells are formed due to the activity of

A) phellogen ' B}

C) dermatogen - D}

vascular cambium

.secondary meristem.

@ el QeudkuTh &edomgd STRTUILBOUSTE GpISSHeNa EALLLE EAT LAY

4A)  YGyrGabiiubd B)

C)  dlyeyor. Gofleuid D)

surev@entt Gaoiflwib

gmité wHpib QuaCearge.

Increase in diameter of stem is due to activity found in

A)  procambium B)

C)  ground meristem ' D)

xocx 1604 ] | 50

vascular cambium
cork and phellogen.
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34. @apuGurLiden Qawdumiiger gpad Gl é.]emz_é,eﬂg)g}
A) QuiGusDS 2 gal Gelge | B) urgisrgse
C) @&L&&,ﬁe’u D) [Fan@ FmEuGD SeTan.
The function of hypodermis is to provide '
A) mechanical support B) protection
C) storage . ' D) elasticit

35. @dle ahs B alsdoew ey wWaeiaw uTdGorT GIBETGLLSE GubasdHE.
wrpue L Hlaoedauidaef uedlée sramiuuding .

A)  sredSlyferm | B) Gurseraiéer
C) Guruismaiwm ' D) GeLer.

In which of herbaceous dicot, abnormal primary vascular bundles are found in

the medullary region ?
A) Casuarina . B} Bougainvillea
C) Boerhaavia D) Lantana.
36. , dlyreten 2 eiarenwiifiue Glé arawiL@D
A) C; sreughsear B] C, grrsuurésaaer‘r_
C) G, sreunmismen D) CAM greughiger.
Kranz anatomy is shown by | |
A)  C, plants B) C, plants
C) C, plants : D} CAM plants,
37. yCyrCsollubd Veraré Emhesssugy ailsaddfau b Gengs Gerdsdpg 1
A)  eurevugert Gabuhub | | |
B) &nrié Gebllub
C) ST UTEUGMT HHemD mﬁ)@ﬂb sureugeomi Gabiluh

D) g sureu@gert shennse L HD.

XXX 16001
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Procambium situated just behind the apical meristem givés rise to
A) vascular cambium

B) cork cambium"

- C)  primary vascular bundles and vascular cambium

D)‘ only primary vascular bundles.

o6 laglame gragtadie U Gurr@sﬁgu ereTLg @uen g gblerepme
A) @dle Cabillud Geveame
B) eurevger sphenps el @éogneu
Q) . :@smm@aarr@ Brbueoliy Gdld aramiu@aiard
D) @ Qsyse.
In monocots, grafting is not possible because
A) cambium is absent
B) vascular bundies are absent
C) parallel venation is found in leaves
Dj they are herbaceous.
smapsedles Gurg HerdCurevbuidbasfldar Quer GCalil Cureul @hs
Bleneulles &mevoriLED
A)  ge&fl Gled (@G e ) B) Bresig Gledser
C) g Osdse D) fleopu Gacser.
A typical female gametophyte of angiosperm at the time of ferﬁlization is
A}  single cell B)  four celled
C)  seven celled D} several celled.
1604 | : - [76001 ‘ [ Turn ‘lover
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40. @M el &mHNIGHD FaTug) @g,gtmL.m’@mmnﬂmné’ L@G)JI;FGBTQ!
A Guan® e 2Legallomd
B) @aimd Huydeflucy whpd syanCadL
C) @R TCHBL L fol ) RO PLOL
D) @eubpst agabdame.
Double fertilization refers to fusion of
A) two polar nuclei
B) secondary nucleus with male gamete
C) | two male gametes with an egg -
D) none of these.
41. dpapuaapfe abs urd afli 2 diflow Camppeilsdpg
A)  yGargfléev whpb evenuGrrdlgm
B) ©QCetmQiyéur wHpid smyr
C) @CemrGiydeur whHmId gl Crrmsg.&igwmedr
D) @mreuLTé wHped e,
Which of the following algae yield antibiotics ?
A) Ulothrix and spirogyra
B) Chlorella and chara
. C) Chlorella and I-Iydrogllctyoq
D) Nostoc and Anabaena.
42. Epaeusreupiiés erg Dameyd perGaPu eugiy uré 7
.A) @CenmGyremul L B) swGerrenulLm

C) GyrGLremulLm - D) JengQumrenuiirr.

xxx [1604] - [1s00T]
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- C)  Fhodophyta D) Bryop_hyta.
43. @9 96 GLORe Lses Lrdumeid
A}  aomredwéeur ' - B) Q&G\uéugmrjsi\)
C) edléaCGumflur D) ' swGarder.
Which is a parasitic green ajga ?
A) Harveyella B) Cephaleurous
C} Oscillatoria D) Cyanella.
44. | I gt LT BEMST UBDBLIITE ©errercrrrerseenes QUG LI & EneT Q&U@’;?L.ﬁi.
A} 10 B) 11
C) 12 _ D) 13
Fritsch's classification of Algae has .................... number of classes.
A) 10 B} 11
Q) .12 D) 13.
45. wyLul e seflé auen@pd sTeTT Bt @elouTn e PHsLILHEDS
A) sty Games é) O Srevery
C) erdalGamaen D} GaruGpmiidveuen.
The fungi that grow on barks of trees are called
A) Corticolous i3] | Zoéphilous
C) Saxicolous . D) Coprophilous.
xxx [16D4 ] . [180¢
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Which of the following is the most advanced group of Alga ?

A)  Chlorophyta - B) Cyanophyta

. ROSE
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46. &flo glousaldr Cuwd ey SrenTed & 6l
A) dﬁ@un@grrmui ' B) @ewps amphens
C) enmcsoesisal 7 D) . g panaxfge.
The fungus living on organic remains is known as
A)  Sporophyte | B) Symbiont
.C) Saprophyte o D) Parasite,

47. ema)aaa'szw,etﬂ@ ST oL PG
A) L:rreﬂ WHIID 5n¢n@m@$@ Qe Cui 2 efren G)enamriiy
B)  uré whpibd sremTeaEh&G @ent Cw o erer @énu.ugbg, cuTp&ens
C)  urd wpod ursefluné sErée @)oo Gul 2 _efrem Lmsg
D) ewslsronsd Gafldr sal @ eurphans.
Lichens show
A) llnic between algae and funéi
B) | symbiostis of algae and fungi
C} relationship between algae and bacteria
D) association with mycorrhizal rooté.

48. wser waale INEOsRssLLT L adi 2 uif
A)  GLpremwdle . B) HQurenwsien
C) Qe Hledlest | D) éu@t..gﬂ@gr@méls&.
First anti‘bioﬁc isolated was
A) Terramycin B) Ne_omycin
C) ~ Penicillin ' - D) Streptomycin..

* xxx [ 1804] | 50G
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49. ulgud I g uiqud I 2L Qurpsd), dCp GarGssiLL Heter @ﬂﬁ@mmm&.
Qeran® sflurer allem_owud CatiCsd : - '

utqud I | | uCqué B

. a) qmmﬂmmﬁ'lérg,rrﬁ)u SYP&H 1.  guxd @éﬁugmb |
b QGHfé vl dejsan® sgse 2. Ugdud —
¢} w@ee LI Hlepsanyd s 3. UJgdub ﬂngﬂG&m«mﬁ
g d) e dCarCordsey advgaar sy -Gt 4.

S3Hud enofGurentsud.

sedil Siyad Gprb

efipser ;

a b c d ,
A) 2 4 3 1 |
B) 2 1 3 4
C) 1 2 3 4

: D) 4 3 2 1.
Match List I with List I correctly a.nd-éelect your answer using the codes given

below :. .
List I : | List I
a) Damping off of tobacco 1. Pythium indicum -
b) Rhizome rot of ginger 2. Pythium debaryanum
¢}  Rhizome {or) root rot of turmeric 3. Pythium graminicolum
- d}  -Fruit rot of Ablemoschous esculentus 4. Pythtum myriotylum.
* Codes : R
a b c d
Al 2 4 3 1
B} 2 1 3 4
¢t 2 3 4
D) 4 3 2 1.
™ ri"—\_Q_S-l ‘xxx 1604 , .) G0 ‘ { Turn over
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©'50. g®evCunirael semet G

A) urder @erCumes 2L eibd " B)

C) 2ie GeUOUESH 2 L eid .D)

Zoospores are
Aj asekual re_ﬁroductive bod!:és h |
B)  sexual re;“)orductlve bodies
C)  vegetative feproductive i:odies
D) none of these.
51.  ursefureldr Qaudur® Gfle Gopey
Al o lﬂmrrsm Qeutigdleo. B)
C) @eopeurer QeuliLisdHe D)
Bacterial activity is. minimum at
A)  moderate temperature B)
C) low temperafure D)
52. unémﬂpnaﬂér umed &miyeoot & el
A) LITGe 6MLISUEN B}
C) F-fiflamet ‘D)
Sex factor in bacteria is
A)  sexpilus | B)

- C}) F-relicon D)

urederl Qupsd) 2 L cuibd

@su:rj;@sfr argieyblevaney.

LS]g,u:rrem SFla GQeutiupde
sifle Qeultiugdle.

moderately high temperature

high temperature.

RNA

&CyrCurCemnd Auefamer.

RNA

. chromosomal replicon.

53. g® urseflur Qedarary gadare M wd INucoLyd vhpd < GG

CGartomuenw Hruyaspe GG e Gg&wn@m. SionsCaruey  BrluyashS

arelicueney GprwTED 7

A o HOLL B)
C) gfouﬁ@g,rra‘ﬁuy BB in -D)

o [608) %)

Spug HWBiLb

‘ @@Lﬂﬁ.@g,rra'smﬂ BBl _b.
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; Ifa bacterial cell divides in every minute and. it takes one hour to fill a cup, how
much time will it-take to. fill up half cup ? . |
R A - 1miute B) 60 minutes
4 C) 59 @n‘gtes, D) .?29.m~:11"1utfes. |
. 54, KYosgprd gmﬂuggﬂagummu@am urréfge_rﬂmrr. E
4 A) & CLrCuoremmsy 451_'6574 Qerfl B)  dlenravg Agund o fisid
a C) lyCanmpmevLmd Qgéa‘vgir@ﬂésaub" D) :ﬁc’a]@él-_"@t.-.fr@ljfil_ﬁ Kl e,
Bactéria upcd mthe pfo;dj.tc_tionr cﬁ alcohol is |
A) Pseudq{rlértg;s ltndis_;eﬁ B) Clostridium bgfyrit_‘:urp
C)  Leuconostoc -dexbjaizgcum Dy Acgtoil_aacter aceti, |
! 55. muquegnmmé\ﬁ_‘_qﬂéﬂ@ﬁg Quﬁﬂu@éﬂm@i ‘ .
- ¥ A)  eulguGymemodlev @@wﬂ@g}’@(s_’w- B) ,,%euf_ig'gc;m;pﬁafv, £l flweiu
C) duggu¢5a§zgigy Cameluey b _ wgqgggﬁgmf@ dpmgd.
Streptpmycip is produccd by
' A) Streptoni_ycés venezuelae - B): Str;ej)itomyg:es':;gﬂseusx .
Q) Streptomygg§ scoleus D) Stre;{gomy@sjradpe. :
. 56. GeuainQial purfliudéd LwsuGd unueflur
.l A)  SICsrprev e FIHAGaurgd B) * 'ﬂé&rg#e’v:.aﬁ Gl ey ool b |
C  @).Cereres g D) afd:é’ﬁ_aﬂg"sﬁrab aflevGarCadwey.
" Bacteria used in the prgpérat_lgzi of butteris -+ |
A)  Leuconostoc citrivorum E B) Leuconostoc dextfa:jilcum '
" C) Ecol! D) Alcaligens vi#colarﬂ:s:.
AKX :'T-* [ Turn over
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57. @) Veubufly eeamyey
A) o edorl guoi emsurev | Bl uméev €OHEUIT 6V
C) TMV D) @ery@pwsTenr enaje.
Largest virus is |
A) wound tumour virus B) poxvirus
C) TMV D) Influenza virus.
58. dlenenbenw Crml Gsere gHu@Sps
A)  uméeflur ' B)  arflé@sden
C) ursefCurGugp ' ' D) mm&@mr.nﬂmrrsiumrr.
Chicken-pox is caused by
A) bacteria B) varicella
C)  bacteriophage D) mycoplasma.
59. emeugey 2 ilBetrenamey STTLSDEHTET Y BTTD e\

A Crrl ghu@Sgieug B) #1Ce @rliglusL g

C) Qoé seuame gaaTsme D) s&nguurs srphléer sarreb.

The best evidence in support of viruses being living is '
A} these cause disease |
B) these show self replication

C) ° these penetrate cell membrane

D) these show strict anaerobic respiration.

60. eveuyey aLQUTWED W STauTSesyd urfléad snqug, @& sally

Al Gan | B Qew
C) gl D) pief) hapdle.
xxx [1604] [16001 |
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Viruses usually infect whoie plant e:pcept
A)  root R 'B) leaves
IC) ~ stem | D) apical niqustem.
61, an@ﬁqm@ﬁ: whpib eraorClemrlisngph @eupfler sa HUQUIM®eT
A) Qma@m ; B)  adutey
C) ueugengpley | D) sfeisel.

Fats and oils are mixture of

A) alcohols B) esters
C) aldehydes D} acids,
62. 9@ yadsen Gerslareallar (Cq Hyz Op) v, QuhBlmaH@io.
‘A) 680 eﬂ.#@mmﬂ S Hpe B) 686 &.8Cerfl g pmé
C) 860 éﬂ.a.@mmﬂ T D 73 aﬂ.a@wﬁrﬂ DD,

One molecule of glucose (Cg H,, Og) contains about

A) 680 k.cal of energy B) 686 k.cal of energy
C) 860 k.cal of energy | D) .7-3 k.cal of energy.
683. g fgrd errCurengnCrL. GeuelluuBSpbenty Subpeier ;\ma‘r‘a{
A} Goeod sCeanflast B) ey sCerflaeh
C) prdng sCenflaer D) gbs aanrrrﬂa.cfr.
One gram of carbohydrate yields an energy of |
A]  two calories ' B) three calories
C) four calories D) five calories.
64. SigaTen GEBeIBDTT
A) . eop Grrgllarey Guen (Siyflér ) B} Qamdpuy
C) . em'r@urrmgm\‘_(%m; D)  yreb.
xxx [1604] _ [E] [ Turn over
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Adenine is a kﬁxd of

A)  nitrogenous base ( purine ) B) fat

C) carbohydrate D) protein,

- 65. &G Qén@&&&uﬁ.@sﬁm srrCurenapt Gyl paeé, ey Ghopseréssy
A) @@Ep&Samev B) euLnié
C) Geaglerey D) &&Qymeiv.
Which one of the following carbohydrates is a rhonosaccharide ?
A}  Glucose | B} Starch
C)  Cellulose D)  Sucrose.

66. eeu L \fler K aflér Cougy Gt

A) Gu_rr(.‘ia:mfgrré; B) MGumiCerale
C)  JeGarQamuGearmer D) ggCymigme.
Vitamin K s also known as
A)  Tocopherol B) Riboflavin
C)  Phylloquinone . Dj Axerophthol.

| 67.‘ @bs Papaidr Curgy o sefigen ume&m@ﬁ;ﬁlu@éﬂma
A) é,]mm#,a,rreﬁa&du .
B) dQguev awﬁ)é;llﬂé:
C) ee&lgres wTHpd Gemot

D} ADP urevurfliGevenesr @i Gurg.

Oxygen is utilized in the process of -
A)  Glycolysis " B) Krebs cycle

C) Electron transport chain D) Pliosphorylation of ADP.

xxx (T804 (16001 |
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69.

70.

25

FpsacmeupPle e ereflenburet LISh Sidhe 7

A) . g éybleren B} @Qenryeieinen -

VC) HCprevemioesTe D). HevensGar yyghaer,
Which one of thé following is not a simple protein ?

A}  Albumins B) Globulins

C) Prolamins. | D)  Glycoproteins.

gCp Qar@ssiiLlBeter a,nr'rGurreﬁamLGm;aaﬂéJ ag /  qee

‘u@éa&.aul_é.mu.lgj / esieu 7

- A} unGenm sr&sey (G siésey )

B) @dlGar sté&senn

C) TS ga_(Bé st hmemy

D)‘ (B) whmuo (C) @yesor@id,

Which of the following carbohydrates can be hydrolysed ?

A)  Monosaccharides B) = Oligosaccharides
C) | f’olysaccharidcs ' D) Bo'th (B) and (C).
@eeu Geflasiu@agrse SfCamspbetae 2 meurdldtpear

A)  Qamraply B) uppb

© C) Bewgéve : D) evnité (wreliCuret ).

Amino acids are formed by the digestion of

A) Fats ' B) Proteins

Cl  Minerals D) Starch.

ROSE

Byré
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71. DDT ediug G -
A)  efif 2.df
B) a.nﬂrﬂasmrrdu flengdabomgw mrr&u@ﬁalb Quimmelr
C} e dfgenmrd flengée uurg LreUGSED GLT@er
D) @m@usﬁ agapbdene.
DDT is a/an
A)  antibiotic
. B) biodegradable pollutant
| C}  non-biodegradable pollutant
D)  none of these.
72. ared whpd @@mUdlb ﬁébacsnmat ngﬂa&]ﬁg,cuﬁ.
A)  efdedlev B)  eléefluin
C) Qe - D) | oL
Age and area hypothesis was proposed by
A Willis B)  William
C) Cain | D) Good.
73. usew@éa allameralldr afleneray
Al QuEBls_am® '@@Fx_bu&mg
B) dleturieou GGLppufps
C) . yeldle cuefioaor_cvgeng @Gujﬁ@cﬂrpg]
D) | @eubmuelr e geybléveney.

Xxx GO0



74. dpseaoL by Cadlourmer Gepur@ o e wamae Wiflaomer 2 OTEMID
| ﬁ'frcumﬂla,efr euen(pid 7 | |
A)  sréeflun B) Gumgmen
C) epLyger , D) &bhgsb.
Insectivorous plants grow in soil déﬂcieng in
A) Caicium B) Boron
C) Nitrogen D)  Sulphur.
75. swpas sr(sefler Gr,r,rrlé.e,mrrsmgl G\pemeoil) QupaIBTEID
A)  olpe . B) s&ranpeLs gouah
C) .é]glsue_mas 2 Hupd D) @evau e dgib.
The aim of social forestry is to obtain
A) fire wood B) fodder
C) minor produce D) all of these.
76.  ifle PO 2 FALTESMLE TH 7
A)  3Cumrefiur B) Suwhpb N G g éamaupssl
C) LSés(Bg,a'n o D) @ oD
Acid rain {s caused by -
A) Ammonia B) Oxidesof Sand N
C) _Methanc | D) All of these.
XX BOC _ | [ Turn over
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Greenhouse effect results in
A)  warming of the ocean
B) warming of the land

Q) wérmlng of the earth's atmosphere

- D) none of these.
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77. Sflswrs wraudeaoe 2 @I THEGD ST s el
A) wef\gi e B) oleugssh
C) us@wLWLS auTySHSET _ D) qgjasngrrds sdlitaeh.
The major pollution causing agents are
A) humans B) animals
C) greenhouse gases D) UV rays.

78. &Epsacon_auibpet gl wallganmes o o _méhsiULL @,{p;ﬁl@é’:ﬁ, QarEly
A)  uTORUTRGET B) uydGeuef
C) alevendlestis el D) aflpeise.
Which one of the following is a man-made ecosystem ?
A)  Deserts . B} Grasslands
C) Agricultural fields D}  Estuaries.

79. slldg Dpsehd Brampsd sragisasss gt 2 gryasd
A)  engnlfldenr B) enur
C) Oeibestr - D) rHlenGur.
An example of free floating hydrophyte is.
A)  hydrilla . B) typha
C) lemna D) neh_.lmbo.

86. '‘QILCUT eretp eSlemg pereTEEd aThE UM Freurhiseie sraLuGADE ?
A)  engnl Crremul selr B) {#Cpyrlecmulsel
C) wrugCrrsuser D)  SQendeecmulsei.
The phenomenon called vivipary is observed in |
A) Hydrophytes B) Xerophytes

C) Mangroves D) Mesophytes.

XX 504 BOC
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8l. ol en Gsmes GQupdmsdepsr
A) ‘m_,".emsr.s,—. oppId Syt et .o
B) 1§ eTelT.6r., Syt .eT60T.67 . ibpID LTS
C) gadng.

D) | teerg.
The nucleoli contain
A) DNA and RNA B) DNA. RNAand Protein
C) DNA D)} RNA.
82, @bs Ursorag GOITGLLIGE 2 HarausDE o Bjeudlunren

A) e 'B)  gyedlen
C)  ablevGLmebr D) mp@mn'eﬂsér.
Protein essential for chromatin formation is
A) Actin B) Tubulin |
C)  Histone D) Myosin.

83. yCym GLrillemrspfles Qardamid Gardiamaou o beursdlueat
A)  ulevdled . B)  Syéluwer
C)  Semba D) Jever,
Colloidal theory of protoplasm was given by
A) Butschli , ) B} Altmann
C) Flemming D)  Fischer.

84. ‘YGpr GLmlenrah eredinig 2 il LEGLIOLITE®ST SugliueL’ - @bsahenp saducurt
A) @é&gms&r - B) séeuren | |

' C)  apéeves D) enrlser.

xxx [1604 16001 [ Turn over
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“Protopiasm is the physical basis of life” was said by
A)  Dujardin B) Schwann
C) Huxley D) Watson. \
85. yGyrlGuriemregdler fle sifle semaléd sraoiu@nD mrﬂmﬁ@urr‘@dr
LA B ' " B) emGurerant Gy
C) yGpmiteer D) 18, .6T65T 6] . |
The largest amount of or.ganic substance in protoplasm is
A) water | B} carbohydrates
C) protein D) DNA.
86. Uenrevnr #eliey @\peoTmed L@mn&@
A)  Sud@ser whpi yyghieen
B) Ly hiser W ({ib
C) yysmser, Qargyeh plysbehs subed whgn tull@s e
D) ypsdeer, sriCuraan’ Grl e whpd dnliGes.
Plasma membrane is composed of
A)  lipids and proteins
B)  proteins only
C) proteins, some bits of nucleic acid and lipid
D) proteins, carbohydrates and lipids.
87. gl e ditamgd Q&@é@tbg\mgu Quihpyshreren
A)  scbey B) me&@ﬂkﬂ
C) ©CamGymiermevL. - D), Qs
Every living cell has a
A) ' membrane o B} food vacuole

C) chloroplast ' D) cell wall.

Ll
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88. a_lﬂ@efrqr Qe el &@mé@in @act SygliueL WTsHsé errqs'm@ wBsMur Qe
m_rb@fn uGrnGafiun. Rash arar NfiGanul Getenen.
A AGLrGsmibest | B) 2Us®
C)  Jenrevor seiey D) @eubmst argapddee.
The basis of grouping of living organisms into eukaroytes and prokaryotes is
" A) rllbosomes | B) nucleu.s
C}  plasma membrane D) none of these.
89. 2 fperer Qedaefie HCp Gar@saLLLQeter apg ewly Geadpe z_a?.@m
wipyb QeuefiGw G!urrqu.esefr sLHslUDIG &LOLUGSG S DT 2
" A) .Glatsim'_qurG&rrlh B) OQesdaeut
C) Gesaadiey D)  eonGurCsmb.
Which of the following structures controls the transport of the material into and
out of living cells ?
A) Centros;me B)  Cell wall
C) Cell membrane D) Ribosome.
90. Vtﬁ\mrre'n‘:mrr Qe Geleurp S psaiiuGEing
A) aé@gnlﬁlmn&m : B) eae&rGLrllenman
C) | HGym.CmSenv s ' D) @eubpe agapidanes.
Plasma gel is the name of
A)  Ectoplasm B) Endoplasm
C)  Protoplasm D) None of these.
xxx [1604 _ ' 16001 { Turn over
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91. urdaer Qe SyluLLUTES Qaradn® cuamsluBSsUIUL Deterg 7 -
A) sevelenpmer B)  euemt @y
C) aunpéhers aphHs) D) Hpbasetr.
Classification of Algae is mainly based on
A)  Flagellation | B) Habit
C) Life cycle D) Pigments.
92.  @#le veawd HreoiLLANdvene
A)  preéwnd B) eapQamuev
C  SuGerfur ‘ D) enseTev.
éhlorophyn is absent in
A) Nostoc _ B) Rhizopus
C) Funaria D) Cycas.
93, @ﬁleﬂ@fbg S{Cuwiig by a@ésﬁu@é\m@
A) esGuranius : B) embCerflur
C)  eueysdfiur | D) una&m&@unmﬂﬁr.
lodine is obtained from
A)  Ectocarpus B) Laminaria |
C) Vaucheria | D) Polysiphonia.
94. g7y 2 dflsefien eré,a,sﬂdn 2_eiGen queNy &g & e el Hel
A SaCsmevu | B)  efeul
C) eaxmCLremutl D) a&GLmenul.
Fungi that grow inside the host tissues are
A) Lithophyte | B) Epiphyte -
C) Endophyte D} Ectophyte.

xxx [ 1604 .
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95. GQuenélehhub ereirpmed ereirer 2

A @aged ‘ B) umrél
C) SIT6NiT 5T D) urderfhwir.
What ts_pemcill_lum ? ' -
A) | Virus B} Alga

| C)  Fungus D) Bacterlums

Qsﬁtgaﬁamﬁr@ uelthg aurpbos G Wedlu TRSgbaT B

A) eé_;,ﬁdseﬂt. | B) &ev@LLrm

C) ocowsd | D} esncdoLgubd.

Best example of mutualism is

A)  orchid | B) cuscuta

C) lichen D} santalum.
u&mm&aﬂs&r Quéd auen&sngw o861 516 @ieeury Siephatu@dldaper 7
A) &nﬁq(ﬁ&nwdu B} QGarulGyrideev
C) OLA&Gareen - D) A s&al@ameue.
Lichens growing on t"ocks are called

A) corticolous B} | cop‘r-ophﬂous

C) terricolous D) saxicolous.
wpappaplle @dléd Qoha BTl sl sHauulLg

A)  urflaeh |

lB} énmrrs&r

C)  umdeflur

D) .cwiauesg greugnseiea Coutselr.

xxx (1604 | Osoo1] . [ Turn over
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99.

34

Gibberellin was first discovered from

A)

C)

algae

bacteria

B)

D)

fungi
roots of higher plants.

utgud I g ulgud I 2o Quresd), £8p Qar@ssiul Perar GHEGa s
Qereo® eflurer alloLowug Carbols® : '

a)
b}
c)
d)
GHRs e :
a
A) 1
Bj 3
C} 3
D) 3

Sl mremb
Qi @)edor@&luid

uigwé ¥

neUTey eTeTUS

Sy CleueTQIOH
b c a
2 3 4
4 2 1
2 1 4
1 2 4

Ll

uLu}iué: i
i dueflur
oflawd ( péa )
. evuatey

S uresTL (D .

Match List I with List II correctly and select your answer using the codes given

c) .

below :
a)

b)

d)
Codes :
a

Al 1
B} 3
C) 3
D) 3
1604 o

Resin ducts

List I

False indusium

Virus means

Leeuwenhoek
b c d
2 3 4
4 2 1
2 1 4
1 2 4.

LA

List 11

Bacteria

" Poison

Pinus
Adiantum.
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100. ulgquéd I g utquds I 2 e Qurrqaﬁ,é\. &Qp Qan@ssiu @eren GO severs
Qenrcdn@ shurer oloLoup CatbOs® : |

a)
b)
c)
dy
' eoPser :
| a
A} 1
B) -3
s C)y 2
D) 4

uligwe I

urflaefer LGS
ﬁug}aﬁ&aﬁuﬁg Q@ dogpndiriagoin
@@Q&wﬂj Quurtasr

e@arGumg b
b ¢ d
2 3 4
4 1 2

4 1 3
3 2 1.

UL ud I
1. @egder
2. ueuer Ceultsvel
3. . dlemry wrew
4.

Quly MG a &6

Match List I with List II correctly and select your answer using the codes given

~below :
a}
b)

c)
d}

Codes
a

‘ A) 1
B) 3
C) 2
Dy 4

List
Algal zone
Preserved fossil
Binomial names

Lycopodium

2 3 4

4 1 2

4 1 3

3 2 1
(1604 |

List IT
1. Latin
2. Coralloid root .
3. Club moss

4, Petrifaction

(18001 : [ Turn over
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101.

i02.

103.

@he saly ursefluréser Semanse @)L tiseflgubd &.némﬁsu@eﬂg)gj ?
A)  ueflailig B} wem |
C) &P | : D) apdsflasiul Bi.
Bacteria are pr.eserft everywhere except in L
A) ice ' B) soil

C) : . sea water D) | distilled water.
@upenswrs wefgeaier Lmquunmﬁlﬁl& Sreooriu@in urdediur
A)  HGlev GLmuméL it B)  dlCermevieflyuub
C) GCudldevsv ey edlan o D) @).Carerev.

The bacterium naturaliy present in human ailmenta;y canal is
A) Azotobacter = . B) Clostridium

C)  Bacillus subtilis D) E.coli.

2L & puaugd sosdiopemearn Gubdipsed urdefiurseer

S pdalu@ & ertmen
A)  wrGeiiy onss e . "~ B) Oufigersas
O CaSQurymyéssdy D) guenssdy.

Bacteria bearing flagella all over bodies are called

A) Monotrichous : B) Peritrichous

" C)  Lophotrichous . D) Atrichous.

104.

_ @sﬁus‘uw@

ahg smuworerg Hgrid uredgel ursefureddimhe fyrd CRewges uréseflurae

CoupuPsd ar@dlng »
A) rQuréler - B} dflevév euwGien

C) St emipedr D) QawlLrsensediehr.

XXX . [1e001
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The stain used to distinguish gram-positve bacteria frgm‘gram-negAaﬁvé one is
A) eosin ‘ B) crystal violelt |
C) -carmine D) haematoxylin.
105. §).Camemev-s umedeots QU@&"»&:I:D- Qe apevid peoL Cupdipg
A) glesrGai : B) s@anCsrCad
Ct  2aGsi | D} enrangOCaser.
In E.coll sexual reproduction occurs by
A)  lsogamy B) Anisogamy
C)  Oogamy : D) Conjugation.
106, Fapeencupidiée g urseursure ghuiin Cpmb 2
A} yipfgsd B) £sCudl
- C}  ufl-Gufl - D) gudflur,
Which of the following diseases is caused by bacteria ?
A) Arthritis ‘ B) Amoeblc dysentery
C)  Beri-beri | D) Diphtheria.
107. sosuyen danuu@ealg
A adpog
B) o meireng ‘
C) e dmsten wpd 2 dyppg Seupmsdlen. Cu @G!IN_LI.LJL'_L_. QgnEly
D) cd@etenency e QUEBHSD SLuDS @)Pphaai Lenay.
Viruses are considered '
A) non-living
B}  living
C) transitional group between living and non-ﬁvlng

D) living organims which has lost power of multiplication.
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108. g© CusefCurGug Qs QupPipieid
A) RNAGLLGD B) DNA w (i
C) RNA wpmid Lysb D) DNA wppid s,
A bacteriophage consists of . |
A) RNA only B) DNA only
C)  RNA and protein D) DNA and prot;ain. :
109. @dlé RNA wpgid DNA'@UG&N'@& sratiLGadéme
A)  Ogilell eeuyen B) eows@amienmevnm
C) Py GyrevGurgm D)  ewGavrenndev.
Both RNA and DNA are not found in
A). Gemini virus | B) Mycoplasma
C) Neurospora ' D) Myxomycetes.
110. Qar@éstu’ Gerer cursdlughé erg eflurarg 2
Al sagd g6 UGH Cry GL e
B)  yoeoe soapgid Crrl ghubhbabd
C) urdeet smardgn wCsNGum s
D) | wele Gersdlbe urré,marﬂu;l;r aUQuTgd Sk@ Cleluameu.
Which one of the following statements is correct ? a
A)  Viruses are obligate parasites
B)  All fungi are pathogerﬁc
C}  All algae are euk_aaryotic

D) Bacteria are always harmful to mankind.
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111. &pbaco . amsdubsaerd s :

sebpl (A) | : Gorgr  Aeuly @rpﬁ,ﬂ;‘u sraouu@dlpg,  gOlereTpre,
S pCgravaiidn &raomiu@agTé.

EW!J’@TED (R) : eal GumIemmagdler obCarauaien &qt;aq;i;g,]a'rmgi.
éf@gp e Geren @il e sfurer el _oug CarbOs® :
A} (A) wdmid (R) @uesmiiid sf, Gueun (R) ereiug (A) ep@ sfluren aflensdeio
B) (A) wbob (R) @esor(b &fl, CGoeub (R) sresiug (A) mﬁ]ﬁ)@ sflurer aflensawee
C)  (A) efl yyeme (R) geum
D} (A geup %m&éa (R} &fl.
Consider t};e following statements :
Assertion {A) © Roses appear red because of anthocyanin.
Reason (R) : Anthocyanins are dissolved in the cytoplasm.
Now select your answer according to the coding scheme given below :
A) Both (A) and (R) are true and (R) its the correct explanation of {A)
B) Both (A) and (R) are true, but {(R) is not the correct ex‘pl;anation of (A)
C}) (A) is true, but (R} is faise
D)  (A)is false, but.(R) is true.

112, uldrGumés @pmm&eﬂ& G LW STeuThseer LLSTURSGEDTTSefr 7
A) 9@:&@ ueTsetr QeuaftiuGdlng
B) g#@ uanyset Geusiuu@dlpg
C) (A uwpp (B) yen@ln
D) S@asst GoDhs aImpéos &phé L@Llﬁ@. _
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Why haploids are preferred for theﬁ use .i.'n breeding programmes ?
A) Recessive characters are expressed
B) Dominant charactes are expressed
C) Both (A} and (B)
D) They have ‘short life cycles.
113. Bsayd gédluorer urangdl yfidl LAAGED wrkled
.A) %ﬁ;ﬂgﬁlﬁlucgﬁb 7 B) Gagenm
C) o 5dguigGaen D) &fmpT-&T.
The main ‘Basmati’ rice producing state.of our country is
~A)  Andhra Pradesh B) Kerala
C)  Uttar Pradesh D} Karnataka.
114. vl QuEpsspdear Weafu Crrésvrarg |
A) (Bltr,‘rrm @levers auen s &6 2 (HeUThEIS
B) 3ifle 0ea@Ge HHD LSS 2 (HEUTSHGELE
C) Owug Fadlqurs wpéltéflueLyd msms.ea?mm 2 BOUTEGG
D) @y Jemendgib.
Aims of plant breedings are tﬁ produce
A) q1§easc free varieties ' ‘B} . high ylelding varieties
C) early maturing varieties Dj a-ll of these.
115. abg msmé:mrraor waw Qpe LAAGuEDE ghng ‘
A)  sflaé wem: ‘ - " B) Qsboem

~C) g urserd Qeduliu@d weds D)  WweEpUTHGTE ek
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41

Which kind of soil is suitable for culti[vatlon of paddy ?

A)  Black "B} Red

C)  Irrigated ‘ D}  Sandy.
sraurhisefles 5n@ﬂu®&> 2 L& @mﬂ@uqbés&.m:rrm@ @rpﬁ, - pempullen
OledwuiuGipg |

A)  wreuGgitey B) @laramdGginy
) Quﬁq@rﬂ Gaiey D) @ersu SardHgib.
V_Method of selction in plants showing vegetative .propagatlon is
A)  mass selection | B) clonal selection
C) - pcdig‘ree selection D)  all of these.
euren Qurgenmgry Fhldle @555 aopllé ulftu@Hps

A Papdbe £0p aratu@d ssate -

B) alemgselt |

C)  epGerbd

D) euGLmeve.

Banana is commercially cultivated through
A) undél;ground suckers B) seeds

C) rhizomes , D)  stolons.

Ebsl udifles Garem Gur @ LllT GuEesspHpers vwaTuRSBOLGEDE
A)  foss_ow | B) s&@mby

C) Ope D) CGamrgeow.

‘Axillary buds are used to breed the crop of

" A)  Groundnut B) Sugarcane

C) Rice D) Wheat.

ROSE
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119. Ourgenrgry Furs Baeyd GubuGasiur L apéfluorer Llitsumaseer Geueury

2_(HEuT &H&HSITD
A) eogpileore Gseer B} QupoesGaitey
C) Heir wrpob : D) 2 @ o phiser.

The improved varieties of commercially important crops are obtai;ied by
Ai Hybridisation ' B) Natural selection
C) Muﬁﬂon _ ' D), Biofertilizers.
120. graghaeiid, Gpmusamer afitbasdsaqu dpoe Oupaphe  Gedourg
gnafun_ﬁu@éjm@ |
A}  cueniéd smbdlsanenr enswTEheISletT Apeud
B) OQauugderar rawuTEheuSesT apeld
C) SdcusEhOLW U SETaufhsE@hL e CluGSHSDEL_aIFHeT apeud
D)  Qenasdfen mau;cr@eugdn apeud.
In plants, disease resistance can be induced by
A}  Hormone treatment
B)  Heat treatment
C)  Breeding with their wild relatives
D)  Colchicine treatment. .
121, afiev@r.mepeit Gamiurd en g@u@ﬁﬂm@ﬁ
A}  goreTevIe e - ' B) Gé[ouﬁ"mrrc&rl_i
C}  evdubh D) prdled.
Histogen theory was proposed by
A). Hanstein | B) Haberlandt

C)  Schmidt D) - Nageli.
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122, uéss 2166 Hessdr Geubdler auentéfleg wedlu Qurpiiy audiusme
A)  ‘memb . ‘ - B)  melllugd
C) - Bigloedr D) ype.
Lateral meristem is responsible for growth in
A) length B) apex
C) thickness D) - cortex.

123. yo whHpd whde sETLUEHssT EemELu Qswduriyd aeb B

a;aaml;a‘,]g)g;
A) e Heow 66 S B) @ueind Hleve gubs Hea
C)  pefl 66 e D) QgeoLilon g6 He.

-In.gféss and bamboo, stem elongates by the activity of

A] primary meristem B) secondary meristem

C) apical meristem | Dj mtefcalary meristem,
124. curev@ent Hasser Geubdlan QawueurBaer cped 2 Haurdng

A)’ Guflferis B) SefGpmin

C) OLiwGLrgen | D) yGrr-gu&s de.

Vascular tissues are formed By the activity of

A)  Periblem ' B) Plerome

C) Dermatogen ' D)  Pro-meristem.
125. sfluren snpeon Cain@s® :

A}. gaor® mefliugdurerg  gueilder  Hod &srrr'r.usfu SDhGHener

2_cirem_&@Fng) ‘
B) gauo®.pelluugd GueaoLmd cuentéflanu e eorReieng
C) prssreurasefé apuCsm sreiu@Hng

D) wlugd Ger 468 fasamd 2 HaTssLLGEIDS.
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‘Choose the cor;ect statement :
A) Shoot apex comprises _tn;lnica and carpus layér
B) Apical stem brings about secondary growth
C) Hydathodes are fouhd in aq;.tatlc plants
D) Intercalary meristem produces wogd.
126. afeng&amﬁﬁ& saqu flaayn Hpewowurer £ s
A)  mriser .B) Gleuevsven
C)  gp&ailev D) Gampew Clsdsef.
The most efficient tissue for conduction of ‘water is
A)  fibres - Bl  vessels
C) ‘ tracheids D) cor;npanlon cells.
127, wiypde 56 Hoo QarLiPbCurg, ohs stuoteim @Bt apebd s
Qe bwuPE DS
A)  pstew LES %é,a; dla Qewudumger apab
B) @b uss 66 Fla Ceuduriger web
C) Qéler wppud Lrefler srluge apeld
D) @;D[bg Qg a6 EOPUILSET APOID.
. When a branch of a tree is cut, the wound gets healed by
| A) acttvity of primary iateral meristem
B)  activity of secondary lateral meristem
.C) resins and tannins secretion

D)  formation of covering from dead cells.
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128, mn&u@mnfr GaniSiud Geupern 2 marsbgiipg 7
A)  emaal oHED L Gemrwd
B) eveeid, Gemmwid whHpd eureu@eot a,ﬂ;rassﬁ
C)  eseb wHpd Cwaef adiser
D)  yCemmwd wHpsb uCenL..
Vascular cambium giVes rise to
A) ~ Xylem and phloem
B)  Xylem, phloem and vascular rays
-C) Xylem and medullary rays.
D)  Phloem and bark.
129.‘ @de o5l Quabr@&t&LGLn@uL 7
| A sm | B) o
C)  s@enL o aoey ' D) awmGLrdeiu.
Which one is a female gametophyte ?
A)  Embryo ' B) E'thbrjro sac
C) Endosperm _ D) Endotheltum.
130. ‘u)emj.gg, @peSlen suents Hurarg G\peore g LUG&pgs
A gy B Sy &erfieh .
©)  aybodien opgib gy D) gy wppib gybeder.
The growth of the polien tube is stimulated by
A}  GA B) Auxin

C) Auxin and GA . D) ABA and Auxin.
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131, 55’(3‘@_ Oar@&suLl Heferauhdlée ag Baaib 2 wiomert @Lb(‘.?s&rrréo@ur'r_th ?
A)  FiGanr i B) OQelgev
C)  ewuearey gegGumeshur D) esasrav GlyeueiyL L,
Which of the following is the tallest among Gymnosperms ?
A)  Ginkgo B) Cedrus
C)  Pinus trifolia D)}  Cycas revoluta.
| 132, s peovigd &nmﬂu@sﬁ@
A) JaCeremadlls geo® ’ - B)  unGemensels o1 (®
C) syger sl ' D} @5&5@La’n SniQ W SSOT(H,
Stem of cycas, contains o
A) + Pycnoxylic wood | : B) Monoxylic wood
C) Heart wood D)  Porous wood.
133. amesev Gyassylr uflésunrer
A} GL uement B} &L& uener
C} arBam uenen D} grwué Lene.
Cycas revoluta is popuiarly known as
A) Date palm : B) Sea palm‘ .
C) Sago palm D)} Royal palm;..

134. gabygsTeuy wLyd wHpd Ul ugdasfics 2 eier Hply saoeuTlisel @eupDré

Byt L Gefeneor
A) - GelLseiv o B) sle
C) Qpfler ' D) @eupper agiobicene.
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_The wood and bark: of conifers have special channel filled with

%

A) latex ) B) il

C)" resins: : . D) none Qf these,

ROSE

w - 135, Ogrogriit Brauy UgRseG Lhlu eyriéd sf,\@éumn'g @iHlurelss seobgieten

136.

G-

A} Quiistgsit ' : B) beu

© Gerasgpr D wiGa.
In India, Palgqb().t.anicéqli R%csearch Istitute is l‘oca_jted %\t:
A)' Bangalore B) Mumbat
C) Kolkata | D) .Luc.:know.
@la Qebwrd sreurb

A)  LaeQuirgur - : | Bl s@sedlur
C) GensGamur : . D) - euesien.
‘The red wood tree is

A) | Dalbergia ‘ | "B) | Acacia

C) Sequoia _ D) Pinus.

. geoquru@L ey o Le GelCLmssD Gpe poid e QupiIFpE

A) opGsrie sramiudnd Caubti Com’ Gaek
Bl @eowaaia God sremiu@d Qom Gs el
C)  evQ@umtaeir

D)  yGrrameven. -
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Vege.tatlve rf;productlon in Dryopteris takeé place bg'r
A) adventitious buds on rhizomes’
" B) buds on leaves
C) ~ spores
| D) prothallus.
138. ‘eng&mmean Glyeuduy G\urfgjsurra. @\susurpre G\amereniu B

A)  Cruréd evssmey ) Bj flumd emsaTEY

C)  waymev smsﬁrdu g D) GasmiL (gn‘ssn") emeérre’m.

‘Cycas revoluta is commonly known as

A}‘ Nepal cycas B)  Siam cycas

C) Madras cycas D) Garden cycas.

139. dpsaao aunrsduhisamend seusd :
sahm) (A) : @igb@mrréﬂér suOeusfil ugdadles Blasfla PibGamaubiLibsaner
@G BT sTeT wWigfpg.
smyewrid (R} :  Gugibureorer é]tb(%mrre‘m@urﬁn@a‘r Qeutiuwrer  cursilenciés
Q&@ﬁg} phd cuerieugléene.’

£Cy O efrer Gy e sfluren el ewus CorsOs0 .:

A} (A) wp (R) GekiGid &, Gugib (R) aerug (A) oY@ sfurer efenssi
B) (A) wbpb (R) @esor@i afl, Cueid (R) erestug (A) ellpe &flures sﬁlm&&»me’um
C)  (Al-sf g e (R) euny

D) (A geup e (R) &l
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Consider the following statements :

Assertion (A) : In Indian plains, we come across very few gymnosperms.
Reason (R): A vast majority of gymnosperms do not thrive in warm weather.
Now select your answer according to the coding sche:‘;:e given Below :

A) | B.th (A) and (R) are true and (R) is the correct explanation of @

B) Both (A} and (R) are true, but (R) is not the correct explanation of (A)

é) (A) is true, but (R) is false

D) (A} is false but (R} is true.

140. euatéuprarsdéd warbsCetéasss VDG sGANSQSS 03606 6l @D e

Sieney
A)  Slowed Crybd wHb B) e priset ol @b
Q) S eurmhse wiHid D) ALislL GE L.

In pinus, the approximate time for fertilization after pollination is
A)  only a few hours ~ B) onlya few days
.C} only a few weeks D) about one year.

141. Qupsd wHpd UdssT ueslIuUr@ Giscnea ribsg

A) Quipens | - B) urﬂces_urmm

C) Oesupens | D) sredarsoa%.mmr.

The classification given by Bentham and Hooker is

A)  Natural B)  Phylogenetic

O Artificial D) Numerical,
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142. graghseilé suemaiumgiludie erpg 2 L es Lany LUETLRHBULL BeTang ?

143.

144,

145.

Ay Qeoeseildr angeaid B) greugheefler euemfludy

C) @eeosdar byby .g{rsmmsq D) 566‘01@ Lpph Ceurseflen cuans.
Which vegetative character is used in the classification of plants ?

A)  Shape of leaves 'B)  Habit of plants

C) Venation of leaves D)  Type of stem and root.
GHuarpd wale she euams m@erﬂ mwc&mﬂu@aﬁ]my ?

A)  dvenud B) QGasul@eb

C) GQyélGuwmen , D) evemusGleol.

The inflorescence in sunflower i§ |

A) spike ‘ : " B) capi.tulum

Cy racemose - D) spikelet,

DlidGeonmensoGILitib-6 ener Gusme.ﬂﬁ@g‘agﬂlu Qun@@ '@@ | alsdleme  wHpADd
Qmelsdoma pragiaersd o Bu sowsss

A)  smiedu. §). GuauGe -B)  QuUpsid HpD aUOss T
. ]

" C)  emlslengen D) sieliy® untLeir Guyesge.

Gymnosperms has been placed in between dicots and monocots in the

- classification of plants by

A) . Charles E. Bessay ' Bl  Bentham and"Hooker
C) Hutchinson D) .Alfred-Barton, Rendle.
amalsealles siflewrear warbahsamens Qe.ﬁn'ccfml_smm |

A) el GL.ed B) Cu&CeammedGued

C) g Credl D) sflaCaed.
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Nu'merous stamens are generally present in |

A} lRutaceae B) | Magnoliaceae

C): ASteraceaé D) Arecaceae.
146. w&Canmelwrale s.mo;wluu@b & GLO Wwepwreg

A)  IgsEe | B) speage

C} meur@e D) | LenrLLeo.

Placentation in Magnolia is

A)  Basal B} Axial

C} Marginal D) . Parietal.

147, Qpaedler areRruu@b wehefl

A)  QyéiGuoren B) &l dlear
C) GueN&dier | D) er‘nﬁ,&ﬂéomrrduu‘r.
The inflorescence of paddy is
A) Raccmose . B) Catkin
C) ' Panicle . D)  Verticillaster.
i48. mesretrfl Gfla @@ﬁ@@]umﬂu@&m@ 7
A OapfGr evwev Gleimg &6 B)  GuiteQaflur asGlsraur
C)  erdlur sgrlier | D) géyev sLCumion.
‘Nannarl is got from
A) Hemld.es'mus indicus B}  Pergularia extensa

C) Coffea arabica D) Achras sapota.

149. @& BITSHBLD SHTMOTED

A)  yflgésb B) GueiéiLb
C)  emeflflwb D)  gr@euréo .
l F395| *xxx 16001 | { Turn over




ROSE 52

A) Triticum B)
C) Gossypium — ' D} Rauwolfia.
150. Qyevenirenuen wBhE SHe Qmhs Oupuuddpsg 7
A)  grCeursvafhur &#u&mgmﬁ B} s Gprur e Grremr
C) Oumpéver seCuriyrm D)  ewusdv QuisTeealie.
Reserpine is a drug extracted from
A) - Rauwolfia serpenttna B) Atropd belladona
C)  Ferula assafbettda . D)  Ficus bengalensis.
151.. Aseflurefen 2 Leub
A) e Cureduev _ B) wr@ammefwsy
C)  (A)wppis (B) Gyesm@id D) QaptiyCymedue.
. 'l‘he thallus of Riccia is
A) Dioecious B) Monoecious
C)  Both (A) & (B) D) Heteroecious.
152. @de g NeoyCurserulLm Loy HepLwrg) 2
A) gfediGaraiud uouug B) saaflgs suBunCrmdbenul
C) paGDh albaser . D). HGODBRIGHS BT Sieudlubd.
Which is not a chafacteristlc of 'Bryophy'tes ?
Aj Presence of archegonia B) Independent sporophyte
C}  Motile sperms D) Water is essential for fertiliza‘t{on.
153. gengeurp é,rrmgﬁ:s.aﬂé: (P S SBTEODLLIT 6TT 6611
A) JegQurcoemul - B)  eyegdGureuGuti
C) RipGemen@uin D) GOufGur é’osmull;@ :
xxx [1608]
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First land inhabiting plants are

~A)  Byrophytes | B) Anglosperms

%

C} Gymnosperms' D) “-Pterbcfwhytés.

-1\54“. Lﬂmgéu.:rro%mun'_u{fagmsﬁﬁg@;fn. '

A)  agheb uueTuLTE
" 'B)  @Gpheew @pééﬂﬁ;ﬁﬂmﬁo surfﬁfpg,ﬂ'_
C} cgqﬂa; Seuhs pedusgnmd G g
b) Qur@enTgy (g;‘ésa‘»]mﬁ,gjmﬁ QT gl
| 'ﬁryopﬁytes are of a
A)  no value at all : . B)  great ecological lr_npdttance.‘

C) " alot of aesthetic value D) great economic value,

155. Qugpburgid WeyGursaul. (e Geubbler gpeud ﬁqs)l;n;l Qupdlempest

Al 2fuyb sEniyset

B) o_cTeDILITER Gmr?assﬁ

C}  Heagdhed Q(Bhp BrEULRD Csburéser
: D} owslaragls.

Bryophytes:obtaln most of their water through
| A) = absorption structures |
" B) true root

C}  underground gethae

\

D) mycorrhizae.

156. Quyeflseiiar Camydy @euparp Cuippiesirere

A) @G B) evGurgmegur -
Q) OerQeamn D) ' @leveu SenBGid.
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The sorous of a fern consists of
A) indusium ‘ B) sporungia
C) placenta . D) all of these. -

157. sangGlarqanalls gamge ahg cuemawuTeT dvg s sraou@dng 7

A) QereliGeamauied B) esuCarmeuvied

C)  yCym GLrevesr D). gsGureved. ‘
Which type of stele is found in the stem of selaginella ? : .A s
A) Solenostele | ' B) Siphonostele

C) Protostele | D) Dictyostelé.

158. eogesthur Qg,rré)@;ﬂr'r LGOI eTedTLIgY
A JeopgQuremur. , B) GQLAGL rdoemul @
ORI N D Geppst agafeme.
The fossil Rhynia belongs to
A)  Bryophytes B}  Pteridophytes
) Gymnosperﬁl D) None of 'th_ese..
159. SpsaeoL. mnéﬂmrﬁsm@m& sauaf :
sapy (A) : sarglOardarald Suwed-sGapEa LLED oL Qupdlng. |
smyed (R) a‘mrré\@wré’nmrmﬂlﬁ CaliLCLremL L Teg) mgGwnﬂm&u UG,
#Cp ePILLIL Gerer @OISLig.60 élﬂl;JI'I'GOT alenL_eowd CarpOs@ @
A)  (A) whpd (R) @uesor@b &fl, Cogib (R) eretugl (A) pe sflure aﬁ]m&ﬁfn! .
B) (A whgubd (R) @uan G af, Cugid (R) derug (A) albe sflure a_ﬁ]mé.&ms‘um
C) (A} efl .géumdo (R} peugy |
D (@A wdamﬁ (R) Qi@ Seug.
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| Consider the following statements
- Assertion (A} :  Only cross-fertilisation takes'place in selaginella.
: Reas'o;ft‘_(R) : The game_tébhytes of selaginella are dioecious.
Now select your answer according to the coding scﬁeme given beiow :
A} B:)th (A} and (R) are true and (R) is the correct explanation of {A)
B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
C}' {A) is true, but (R) is false
D) Both {A) and (R} are false.
160. QuACLrerLL Dsefir 2 afrer ensaid Geupeap QupPBiug Edere
A} gr&dlev B) 2. umyetensionr
C} Qeuenuévety D)  evdlefyenansionr,
In pteriddphytes. the xylem does not have
A)  tracheids | B) wood parenchyma
C)  vessels | ' D) sclerenchyma.
161. grggmgmnwwmr@ Geubdler ellemenayserTe) i8¢ HQIBBSG 2 _shetrHipg
A} @Genmilen B) gaut oL Hémal
C) a;géaﬁ]gs&r | D} eanlgmer.
Tajmahal is threatened due to the effect of
A)  Chlorine | ' B) Sulphur dioxide
C) | Oxygen D} der;)gen. '
162, @lrauglasdn adtug
A} DEIHSESEE BEEGUS B) @&o6 (pR&6T BHGIS
C) aféoeﬂmﬁgﬁlmé)m 5&@@@ D) yefefl eulLissener BhGeug.
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Emasculation of flower buds is

;A) removal of anther | , B) removal of stiglma.

C) removal of sepal ‘ - D)  removal of petals.
163. @bdlureallés Ludic QUEEsEmS Coumeeny Wpad QaTLédlucut

A) 8 g GapreuTt@ : B) mritwe Guriers )

C) &Butersd® D) M. S. saurbiprger.

In India plant breeding work was initiated by

A) Sir Albert Howard - B) Norman Borlaugh

C)  Fairchild | | 'D) M. S. Swaminathan.
164. yHu 2 wdléd SPPsILESHL usPu BTeuD

A) GOpe B) 2 (hemer

c)y Gamenid ' D) &r’ré»a:msjsum‘mﬂ.

An old world_plaht introduced in new world is

A) | rice B) potato

C} comn ' D). sweet potatb.
165. srdiflud grif@gl b eraug)

.A) By Caurd@ ylerml@ B) . o0 Canrd® guermli

O PySaia@ OLigmiemi@ D) god Cartd® queml@.

Gossypilum hirsutum is |

A) New world diploid : B} . Old world diploid

C)  New world tetraploid - D). Old world tétra‘ploid.-
166. ‘et wrpp fl8 yambd ersim_l-;y |

A) IR-8 . 'B) IR-24

C) IR-36 ) D) GQuéeii -1,
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Mutant rice variety is
A IR-8 B)
C  IR36 | D)
167. usenn Ly &lSlesr 5;5@5 sfebrumrt
A)  priod Gunffmn& | B)
C) l@cﬂ@sorr _ D)
Father of Green Revolution is
A} Norman Borlaugh _ - B)
C.) Vavilov ’ D)
168. greuy LFQILEESSEIET LPeLLTET APenD
A flpsiuBase | B)
Cl  sadlen Cotbams D)
" The oldest method of plant breeding is
A) introduction i B)
. €} hybridisation D)
169. QugieuTs ‘sevnlieiiser eeTLg
A)  UseSowrerae B)
vy C)  QupGpritseer GEsg D)
Hybﬁds are geueraliy ‘
- A) . weak B)
. C)  like the parents D)
170;: Biaeyn gfsiomes u@r’rlau@éa (y:éwg)
A SPYsILGEEES B)
C)  seulars Garseme | D)
The quick method of plant breeding is
A) | iﬁtroductlon ‘ B)
C)  hybridization . D)

AR
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IR-24 -
Pellita-}l .

St Gopreunt®
amirett wHpID &,

Albert Howard
Garner and Allard.

(gg,ﬁm Clsige |
Sletorhn QuEesSD.

selection

mutation breeding.

2 pfluratena:

et wrhpweLpeenal.

strong

mutants.

Qaitey Qalime

gerwrpp QuEssid.

selection

mutation brcedmg.
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171.

172,

Fpéseio1L curbdluiieaners moued :

snrj)@ (A) | . eregGLmNenreuflles  eusmen Q&n@ﬂq m;i)@jfd Hlenen&Gamapest
. Gersemade A LG ud&dlng.

asrgeoond (R) : @g Oewdllan 'Gu&;(%&@é]rﬁ:‘-mwmrré e wau®Fpgl.

&8y efluii perer @i g sflurer alen_eowg Caips@ :

A) (A)- whHpb (R) Gren@id efl, Cuoebd (R) ereiig (A) aﬂg')é &rﬂumqm efen&meb

B) (A} wbnb (R) Gyaed efl, Gued (R) gl (A) elpe &rﬂmw;ur alenésiode

C) (A) &l gyeomme (R).gm@}

D} (A geup e (R) &l

Consider the following statements :

Assertion (A) : Endoplasmic reticulum ‘plays important role -in lipid and

glycogen synthesis.

Reason (R} : It functions as packagihg centre of the cell.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A} and_ (R) are true, but (R} is not the correct explanation of (A}

) (A) is true, but {R) is falsc:

D) (A) is faise, but (R} is true.

Blpsei Birsraghseiie sramiu@h Gaess’

A) | AauGuflug _ o B) &dug .

C) m‘é\ammu Gurestpgy D) evdlli@rrdildieen.
In floating hydrophytes, leaves are

A) large B) small

Q) needle like ' D) sclerophylloﬁs.
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173. senglupmeten cupesor Bleopsmeughseiies wpéhdu 55 SN &
A Glerevseit @ﬁ.&.en_rra;é, Gop&aILL Helrere
B) 5ﬁ' Cailsg b Hasaeh o Gamag
C) | (A) oppud (B) @)y edor(id
D} @eupper agopdaeme.
Main adaptations in suéculex;t J;erophy;es ar-e
A) leaves reduced to spines |
B) devglopfnept of water storage tissue
Q) both (4) & (®)

' D} . none of these.

ROSE

174. Qeowasilar uyiiuene; @eoD&slLLG BGUUG BB S8 JEDTED

A) @t dlevey Bl  cupcdmLflene

C) ‘Qﬁfﬂ_‘b@j STeury LT D) @owhd aumpsans.

Reduction in area of leaves is an adaptation for
Al aquatic condition , B) dryness .

C)  epiphytic nature - D)  symbiosis.

175, cusfloaion_epdles seuf-oL gémevged T &Q&mrras V)

A @m ekigsenbe Lugietag
B) @Gl@ greugus@hé@ LugeTarg)
C @& Queaghed S alleaalissssugug

D) @& sshebd Fig Soeraliugéaame.

Sulphur dioxide in atmosphere is present in high concentration which is

A) useful for animals B)  useful for plant

C)  harmful for both ' D) harmful fot none.

xxcx [1604) |
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176.

177.

178,

179.

180.

Gurures eflayeury] Hlepsdl Ggermd ghuli g

A) sTHN OTHEURSHO apevld B) w&kr wraUfRSs apevid

C) @it wraEu@Se Qpevd D) @eubpsh ergiapfisvensy.

‘Bhopal gas' tragedy was dﬁe to - |

A) air pollution B) soil pollution

C) water pollution - D) none of these. '
Sl g,ff@ljrﬁl&,eﬁ'mrj)@qu Ghpfloals flo GHOIL péalGUIGL smeT STULSDEG
Blsueurpy Quwit

A) CGurigll@sé - Bl  selGarugl

C) @eowps aumpshans ' D) @eubmper agiapbldeane.

Secretion of spei:tﬁc toxins into the environment by some plants is called

A) competition B) allelopathy

C) symbiosis | D) none of these.

ShoiyD ' @,{p@a&:wuﬁ]e’b .Sflsworer  geralée urdleu ghHu@Ssd QuTEL a6
QobeTe ABHG | '

A) U IS T HBHEv B) wreu@se

C) (A oppod (B) Q@i D) @eubpst agabidee.

Presence of substance in harmful. quantities in the environment is termed as

A) conservation B) pollution

C)  both (A) & (B) | " D) - none of these.

@bdHuralié weinr Ly ghueusparer pHdu sryemIbd
A Aeduriy sfaurs G@sse

B) &r@osener 3;56155.5'\:

C) oflswrer Guiksd whpib sTEemer SYHILGET apeuid
D) sdewrer Gulésd sryamions.

1
Major reason for soil erosion in India is

A)  tilting of land B) deforestation

C}  overgrazing and deforestation . D)  overgrazing.
ss‘uufr-m;—ggé:mau@f @aeen LTH&Eng)

A) - Qedsour B) Senmerown Guerv@iol L
C) erévarm geiiey zsnL‘ewsmmsﬂqu D) oL&m.
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Sulphur dioxide affects

A) - cellwall - B plasmodesmata

C) all membrane systems ‘D) nucleus

erswrelld gl @\pebr ﬁ@ﬂ@un@dr . |

A Gud sty B) | @sdmcut

C) . @Cpmoriigen ..D)  eerGumllewran.

Siallc acid isa constituent of

A) - cell membrane B) . Qéll wall )

C) chromatin ' D) cytoplasm,

EpsaaL eursdluniseens seueh

sap (A) ¢ yCorGafluminé OQeddld sremiu@d g .edg.eu '_ Sl
| W CaAGur s Cledwdléy sramiL@b g crebrg. Sifsb. |

" smyemd (R) UGGafGum s Cesdee o yCaMGuriys G\&mwnma

| wrrlwe amuuemt_uﬂéo fléaeumer .gqmu:uqml_iug
éﬁ’Gp el Gerer @Huiigd sflurer alen_ewd Gﬁﬂrg,Qg(a :
A}  (A) wppibd (R) @gdﬂ!@tb &, Gugubd (R) eerugy (A) afipe sfuren Qﬂsﬂé’a;tb
B) (A} wbpbd (R) GlyainGid e, Cugyid (R) 'Gre&r.um (A) alpe eflurear allenéawden
C) (A sfl sye@mé (R) peupy '

D) (A seupy syemen (R) el

Consider the following statements :

Assertion (A) : Eukaryotic cells have more DNA than prokaryotic cells.
Reason (R) : Eukaryotes are genetically more complex than procaryotes.
Now select your answer according to the coding scheme given below :

A) Both {A} and(R) are true and (R) is the correct explanation of (A)

B) Both (A} and (R} are true, but (R}‘is not the correct explanation of (A}
C)  (A)is true, but (R} is false

D} (A} is false, but (R) is true.
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183. dlerreuwrGlebnralés sm@ureran Crl @he augeaild 2 ererg

184.

185,

186.

A)  AaverGareiiniley wppn Hear@aT Lyshse

B) Qo Gamey o

C) Q&bGesgCamen

D} v,

Carbohydrates are present in the plasmalemma in the form 6f
A) Glycolipids and Glycoproteins

B)  Cellulose

C) Hemicellulose

D)  Starch.

HPHETILCOCLHETTSD  SELDS Camiur@ yCymiGalemegenpl  LHd
afleufiedlpg 2

A)  Qaraerd_d Camiur® B) s&re-Qgé GarLurd

C} alevarélly Cariur@ D) - &fGuevOILeine e Gwrtl.urr@. '
Which of the following theories explains the structure of protoplasm ?

A} Colloidal theory | B)  Sol-gel theory

C)  Viscosity theory D}  Surface tension theory.
Gamevens Hribliblen&endle w&Hu Couore org) 7

A) gerarenCerCaadn B GuiwenGLesn

C) HeanenCandlGLgett D} urew@urfiCGages.

The main function.of Golgl complex is |

A) translocation B) fermentation

1] glycosldatlon " D) phosphorylation.
SlyGamilemrevl sreTug |

A) U euedsieoTd LS]GTWG?U'LQ.LE:G‘I' B) dowbp lﬂsﬁnd\?qﬁ@a’ﬁr

C) L{GUH’LS]GHI‘I’G?UB}LL&BG\’T - D) yeogGurhzeme sB&SD umé;sﬁ.
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The‘leucoplasfs are

A)  plastids of varlous_'colours B) .colourless maétids

C) proplastids D) -axlltlseptic. adhesive.
187, ‘aramrGLmNenmeruibls: @g&@&@mfm' P&AWDTE @) eI bt Qg,rn_r'rqail_u.lgj :

A &Gulyg &ﬂmé@&ﬁ&ms’ B.). Qaarr@l_'JL_] _@&r'fé,as)éra

C) Oulie{ uretI() 2 (Heur@Gse D) q@qniq@mw@sﬁaﬁie‘m.

o

Endoplasmic retiéuhim ié mainly concerned with
A) fatty acid synthesis B)  cholesterol synthesis
C)  peptide bond formatiqr_x D) proteolysis.
188. Qamgresm srst'n@t‘o a@mﬁ]m‘u Puesmpse s Hgmisdests Grrud ufle

QJL.pIﬂlEDuL'_I_Q. S|OUBOL U SLFmLE Fhureo g

=

A} gmauy seulleripenp B) DNA

C) QanygCrredleu D) @gaﬂqé Car@-

th;'ana has been awarded Nobel Prize for his work in

A) Plantbreeding | ' B) DNA

C) Hete;osis J D) Gene_tic code.’ |
189. ‘acdmGLmiemmaulls’ aiamewrearg @lesl GLbHIEBEEGD

A}  oaCerGsrd _ B} @&@Tl.q.rﬂGUJFTG'\)Gh:)"

) Qﬁgné,a&G&nmdu : D) epGur@smribevn.

The endoplasmic reticulum often bears

-

A) lysosomes ) B) centrioles

) peroxisomes D) ribosomes.

190. ‘eaeCLrienreudé cuemen eredrmy Qi L e

A)  Qumrr B)  GumiLr whoud qsb@ma‘sr '
C)  grufi ser ' ‘D) Gared.
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The term ‘endoplasmic reticulum’ was coined by
A)  Porter B)  Porter and Fullman
C) Robertson D)  Golgi.

191. )y emetwmes &efr

A)  Jdersew spppene B) Gpriansew o a_wuame
C) e Degemn Ldmem D) (B)wbpb (C) Gues(b.
Anions are
A)  not charged B)  positively charged
C)  negatively charged D} both (B) & (C)

192. C, aufipst s8é pad Hleve -
A) 'coz (b RUDP yb @levemgs " B) CO, b PGA yb §eemis
C) CO, b PEP yb §enemmpan D) @mr,brgjeﬁ e geybldvenen.

In case of C, pathway, in the first step

A)  CO, combines with RUDP B) CO, combines with PGA
C} CO, combines with PEP - D)  none of these,
193. dlearsararandlay erdiug 9@ e enaeres Qawe.
A s B) gGymis
C) .g;i,é,aﬁlGL.L'_qclh o D) M &ge.
Glycolysis is a/an ...... process. |
A)  Redox " B) Aerobic
C)  Oxidative . D} Redt.:lctive.

194. euLnté QupBméeio Nerravgl sefr Geueurgy S psaILQHpg
A) a;@m@mrrﬂ_smre’mﬂ. _ B) &y Gamilenmeul
-0 @Cenr@ymiermaul - D) @CynGumilenmeul.
s [1804] [x800T]
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197.
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Starch'containir_xg plastigi is called

A)  Amyloplast | Bi Leucopla$t
C) Chloroplast ' . D) Chromoplast.
eflsGersmalies peL GClupid sntue eumy & phélew a,sésr@qug',ggsﬁjaarras Gg_nﬁs’u
ufle Quﬁ;sp‘éuﬁ w1

A srecder g eilutmiu:.

C) Qeamrgmenm D} gunf_t;vus&r.'

Who received Nobel Prize for working out the early carbon pathway of
photosynthesis 7

A) Calvin . B) Krebs -

C) Khorana D) Watson.

@ihe ehu sybpereig g5 wrs LTHPILGEDS)

A) el GLrareo fur B) @CenmGmUlemmsvi

C) rﬂéun@&wmgeﬁ l D) Quqrréaetﬁ\&_fmbe'm.
Solar e.rllergy is converted into ATP in

A}  Mitochondria B) Chloroplast

C)  Ribosomes D) Peroxisomes.
Léemswbd Ges seut Spgi

A)  Sany geflow vl Go B) Be geflanw o @i

cy 'ﬁéﬁo ';ar;g@;fa Heurny | D) uéms .@sﬁlamu 1B BD.
Chiorophyli absorbs

A) red light only B)  blue light only

A blue as well as red light ‘D) gre_en light only.

-
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198. amiuen 2  fl1dléatiu@eausne Coanalureat SODENey HHEuUG!

A)  @Cemr@rmilé . B) amiuel e %é,mdu(r;\
c) B D) @fu g,
The source of energy for carbon assimilation is
A} Chlorophyll B) CO,
C) Water D)}  Sunlight.
199. greughseflé STUST L S &hepeneL q@&,gé@&néﬁm@ - Sy &Slgel

QeuelCuibhmésagu HlapéHég @ebsury e PssiLREDs)
A)  eaaor@Lreubledlen | B) goflsCatsoms
C) prreWGurée D) acurdlige.
The process of taking in CO, by plants and releasing O, is termed as
A) endosmosis - B)  photosynthesis |
C} transpiration - ' D) respiration.

1200. sraghsee poLGupb sardssd
A) gyl mcuL'_L.L&dsT;,dT 2_(Heurdeipest
B) @& seven gmeury Qs efles ucrs'mufr@tb
C) Sé64 sTiLdL oo Caomalupib
D) us&burwde wl @b HenGumib.
Respiration in plants -
A) results in the formation of vitamins
B). is characteristic of all plant cells
.C) often requires carbon dioxide
D) occurs only during day.
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Read the following instructions carefully before you begin to answer the questions.

10.

11.

12,
13.

IMPORTANT INSTRUCTIONS

This Booklet has a cover ( this page ) which should not be opened tll the invigliator gives signal to
open It at the commencement of the examination. As soon as the signal is received you should tear

the right side of the booklet cover carefully to open the booklet Then proceed to answer. the
questions.

This Question Booklet contains 200 questions.
Answer all questions, All questions carry equal marks,

The Test Booklet s printed in four series e.g. or [D] (See Top left side of this page).
The candidate has to indicate in the space provided In the Answer Sheet the series of the booklet.
For example, If the candidate gets serles booklet, he/she has to indicate in the side 2 of the
Answer Sheet with Blue or Black Ink Ball point pen as follows : ' '

(Al Br(criDY

You must write your Register Number in the space provided on the top right side of this page. Do -

not write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No, and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encede properly or fail to
encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses (A), (B), (C} and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet,

In the Answer Sheet there are four brackets fAJIBliCland | D | against each qucstlon To
answer the questions you are to mark with Ball potnt pen ONLY ONE bracket of your choice for
each question. Select one response for each question In the Question Booklet and mark In the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong e.g. If for any item, (B} Is the correct answer, you have to mark as follows :

(A] IC1D)

~ You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take-

this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

Failure to comply with any of the above instructions will render you liable to such actlo-n‘or penalty

as the Commission may decide at their discretion.
In all matters and in cases of doubt, the English Version is final.
Do not tick-mark or mark the answers In the Question Booklet.
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